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<html>
<script type="text/javascript">

function Cylinder () {

var pi = 3.141592;

var radius=Radius.value;

var height=Height.value;

var sradius * height * 2 * pi + radius * radius *

pi * 2;

Answer.value=s;

}
</script>
<body>
<h3>Surface Area Of Cylinder</h3>
Radius:<input type="text" name="Radius" id="Radius" size="3">
<br/><br/>
Height:<input type="text" name="Height" id="Height" size="3">
<br/><br/>
<input type="button" value="Calculate" onclick="Cylinder () ">
<br/><br/>

<hr>
Result:<input type="text" name="Answer" id="Answer" size="20" readonly>
</body>
</html>
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